Division par 10 (C)

Trouvez chaque quotient.

55+10= 6,81 +~ 10 =
5+10= 8,537 - 10 =
3,49 - 10 = 7,505 =10 =
4,2 +10 = 1,452 + 10 =
2,83 +10 = 9,6364 +~ 10 =
97 +10 = 8,811 +-10=
1,83 +10 = 8,9 +10=
8,93 + 10 = 2,8208 - 10 =
2,1+10= 92+10=
549 + 10 = 3,78+ 10 =
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Division par 10 (C) Solutions

Trouvez chaque quotient.

55-+10=0,55 6,81 ~ 10 =0,681
5+10=0,5 8,537 +-10=10,8537
3,49 + 10 =0,349 7,505 + 10 =0,7505
4,2+10=0,42 1,452 + 10 =0,1452
2,83 +-10=0,283 9,6364 +- 10 = 0,96364
9,7+10=0,97 8,811 +-10=10,8811
1,83 +10=0,183 89 +10=0,89

8,93 +10=0,893 2,8208 =~ 10 =0,28208
2,1+-10=0,21 9,2+10=0,92

5,49 - 10 = 0,549 3,78 +10=0,378
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